ECU'\/ -22010: A%l‘jnmen‘} #Z' Answer [\/ey

‘ u)/ [A+X )() X‘/ CY,
- w/,,‘efe, ,,C"‘(A'”(,X) A arw,/ C 5 ncu—fquaéM ff X

I3 nan-—rru:/ m.,

%emffj//s a Anmr BS/:MAI‘

| )A and )( are Non- rmno/wn 50 /M[n Xi] |
am;/ }7/'"[ AJ' /m/x?[[nAJ éﬂ/ /7/,14[4)(/\’] /ﬂ["l)()XJ:Q,

So, f# ’[TAA *,n),(X] [[74 XX/) /' X' £>J
o pln ()= @10 0 G0 = f et ]
COE6) = g[(mxx) 'X'y] = (A4 x%) N Ely)

B Sq, E/,g) (A XX) 'X'E[X/+ g)
I = (A + XK) “x X/ ) //\ /Ze ervors Awe Zere memz)

Sald) - £ - (w0 x'xp-F
) The i esfinar ”
75 - BlZ) = (AXx) iy (XX Sg 44
B 1

ﬁlﬂ// 7%5 0//0”1/5 on. 74(8 on,énown /_, Sé /3[,,(‘6«/71 P/C
Canﬂlft/ﬂlm/ n )oraw/:re - S




) Now /@f'/a(e, / éy b (!Ae LS cs/monér of /) 4 fe

express: fon ,
4 (A'*X"(";'Xr'y *(A+—><'x)"‘x’x4 ¢4

= (AexX) Xy -X ,ﬂ) bs
BA GOy, o XY, ad

A

L¥=0 +4 =b

QQ §ee E{/,w/, kaA/e S —

Xx<ln 2i1 = n oo

i) p(ns))(2neD)
N 6

So,(?’x)(l)(),? 1 (ne)

(h‘-'” [hH)(an-rl)
a 6




and é;mj Z;{ XX] s a wadey with 3 ey /cu/yey,

, 5/3“46“7,[5; f?L 13 ﬁZ7[ [/ )Am/e ,WQ?///)(- ﬂs ,0/8/91’“4'5&9;1% /5
,hﬁ‘m}leﬁ/ and Jeace /05,:*1[1'1/6,, So +F 4t 5/,// Fﬂ?:)l,%/e V/CZ[”/C

’}é’),/?: ,(X’X)"‘X'Wy,. (learfy He /e;fesfﬂff ave non~ raudesm J}
s )= 4, asumig flaf ELE):0. S., EB)=4.,

. yn /'I/Al’v/ar. I}ﬁ #te Crree’S /ml/e au ,,,,9(‘0/4;" CeVarignce . .
Cmadex, V)= o> (X0x)7.
Héké/ xx)=] n n_(y;_!)
N - | 'n[m’) n[ﬂfl)[zﬂrl)

Xl = pR(ae)(Rnsl) = p3ws)t

el
NE

Sy, = 02 [al)Fas)  -nlna) |
3 [w=Dlnsly 6 o 2 |

- nlns!) n

and vmell) = 12 n o= 12 |
| N2 n=D(nel) Nln={nsl)




C)Clﬂm’[}', ﬁlS'yé; s (/ugl‘aﬂ:(/, ano/l/ar[c{z) > 0 a}z | n-a o2,
é:. s mean-—,fﬁm zmsf‘:/eu-/, ani/ hence ”,'/,3 q/fa ch’,{,/y

d) gonsis fent (plim (b2) = #2).

masme—

n2n-1)(nrl) 6

¢ var (b) = [ 2 wfaeg)(2neD ] |

= 2[&44’1)(2‘4#\ = én"’J- bn + 2 = _4_:/;4 o+ 5/,,,: ¥ /7/,,,5
n(n-1)(n #l) nd-n S ["/h‘)

>0 as n-=> e

So,,é’, s Vn/:,'ase/ and V‘qrﬂ:) > 0 oy as n>0, So
é, /s mgqn,-57uare Cws:.‘;fenll 4n0/, Aenre m/Sc ,,ché/é

consi¢ ,Ze,,,,l o

o vvev!/r cmh‘;/ciw Y.

) Toe vsval assomplion 5 soHlivient, it ol necessary, dom




' AﬁSl‘?nmm% ’HS - Am;wer /(ey

1. a) Ln g;enera/, the F‘Z{:S?L 5/@/15’7[/'6 for 7Z€57[/'Vl® J lnear /657[r:'c7lr’o_nj can

-

/76 ‘PW/&5§€/ oS -
e

F= [eet -el) /T
ee /[ (n-[)

/'/QFE’ k]. W[L 7Z 0/055 c* (-’ /pof /%E | Wﬂm nWe f€7! a//
oce r(r&ﬂlj e)dea/ /ér /Z{' e crceﬂ%s 7[0149 Zfra wme aré ,1/57Z
V€‘7r/€55mo; w/l a Cﬁrzf/ozm/ /n 74115 CaSC 7Z/l€ /f47/c’rc€)f77Z

Coemc,c-fr/ GSAWIDH/-::* IS \/ ana/ /Ae res,a/f/q/f are mD léZ 740.4
((/ “'\/> gn (O*) ¥ = Z/\/ \/)l

Kecall Hhat B2 = [ - e ] So

RY = Jelyp-) - ee|/(k-1) = (et~ er)/ (k-1)
k-1 Z(V{“Y/>l 5_/,\/—',;’)7\

wod (1-RY = Cel/(n-k) . So
(k) 2 (yo=y)~

[RYe-D)] / [UI-RD/(n-1)] = (e*'e*—¢ee)/(k-1) = F
ce [/ (n—k)

L} Show Hat OF/O0K* # 0 a/wqys :

OF OR* = [nkN O | R* T e nk>0  and K-1>0,

(1) or™L1-r"]




K-1>0 Since ner'}%‘.’r— f/(e /E’Z/z:ﬂZ Jlor Zl s%wé/ gc 056’0/ l/lfl/ef)’

7LA€”€ 5 an l‘ﬂllf,’fc(;’lp% " ﬂ\e VV\UQl&//, <p K= 2

DIR/0-RY] = [ 1 \4 Kv—oz—ow-fé*)"?

DR> L/-R*)

= | LR - kR =L >0

e

/——/2’ //—R?V (1-R)2 (-8

5 %AC(E S 4 PDS/ZH/C "’10}’10 ¥ € /f//rw/u’/p ge/wcc’tfl qno/ /?Q

l/\///w’m che r<ﬂ5 e VQ/I/E S VhVJ% /45 a/lfr

:.:,2' The [iost model s (/—X/ - ool £ £

(0< (5 a §m/nr §mf€ a’ /s q vec ")

Ugr’@g ovr Ipqr///r‘an’g/ 766/655;‘0;4 /’65(//7/5 :

2 (X X)X My where My=T-d(d'd)d

wd d'= (0.0 . 1) S (dd) = 1" =] aul

My=T1L. O] _Joo] - [ (O

(O] Jéoeg SN
Now Canfm/er f/e 5(/5/4/,0,1 VvAm we (7/*0? ;z/ /rom 74& /4’106/5/ am/
018/9716 7L/\e /M,ll oéﬁef/mlrow pez[rle /zn) /TY' &/70/ 5‘/}47//”/)/ /;r XML,_

L'ynn
[T[\E {(ﬂ)' C/CVm?éé IZAC /7'”‘ row VIA 7[4‘6 V€C74r” or /m/rd/ IS Dé’/f/fA

So, Vi s (n-Dx] _and Xy Js ga-1)xk.)




